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2019

ECONOMICS
( General )

Paper : 6.2

( thiné and lDév‘elopment in India )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following : " 1x10=10
®e1e e Seq o

(a) What is democratic planning?

TreZe ReE &2

(b) When was the NITI Aayog’ of India
constituted?

©RST NITI SEasy” (i siom 31 02 ?
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What is the main aim of Import
Substitution Policy of India?

SRR i Rew M 73 Toen & 2

Define the term ‘economic globalization’.

qffF AT e |

Give one argument for favour of
privatization of Indian industries.

SRSY TTMNRARY (FIFRATAN 0T O Y
R

What do you mean by SGSY? '
SGSY A ¥ g@i 7

Is India a mixed economy? Give one
argument. :
oRe g7 R SR ovt @ 7 961 IR fRam

Mention one objective of ‘Act East Policy’.

‘o T 1" 1 TG Beme w0 1

Write the full form of NEEPCO.
NEEPCO-3 #ff o1 feran 1

Write one important cause of slow
economic growth of India.

SRR T ANART TR GO sFeS IR
foran

( Continued )




(3)

2. Answer the following questions : 2x5=10
wors fia enPTE e fi -
(a) Mention any two sources of resource

(b)

()

(@

(e)
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mobilization of India’s Five-Year Plans.

SRt Awe ofigErm e @R R

T 701 SR 7 B 3]0 |

Give two arguments in favour of
economic reforms in India.

S SLARE AT SoreE 1 I O |

Write two objectives of MGNREGA.
MGNREGA-3 751 S 3131 |

Mention two functions of Planning
Commission. :

AR AR (o1 PR Trard 47|

Why is the economic growth rate of
Assam slower than all India average?
Give two arguments.

TR SRAT TR TN THOREN % A
TROLE ¥ 512 951 3fe faan o
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3. Answer any four of the following questions :
5x4=20

e A 2paed R @ vifkbR Tes i

(a) Discuss the achievements of NEC.

Teq-9 “IRIT STFTOPIR S 41 |

(b) Is there any need of foreign investment in
the context of policy of economic self-
sufficiency of India? Give reasons.

SRS RYART ARSIl AfeT “ifcafros
@ RRGR @ Ao AR #IE 2
PRPHR TCEI T |

(c) Distinguish between centralized and
decentralized planning.

Fhige wF RS ARFE N1 cryean |

(d) Analyze the salient features of India’s
Five-Year plan.
TR ~AIRF ﬁﬁwaﬁ 0 fEpEE I
11

(e) “The Five-Year Plan of Assam js a carbon
copy of Indian Five-Year plan.” Do you
support this view? Give arguments.
‘e ARIRE ARIEA e ey AR
ARFET ¢ TR ARE 10 TRt o T
T 7 3 o
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() Explain the various features. of
decentralized planning of Assam.

[ F90

4. Answer the following questions : 10x4=40
w7 it PRy e o -

(a) How are the strategies and goals of
economic planning in India changed in
the post-liberalization period? Explain.

TIRFTR A7 TS SRS SfAfed
R e o AR @A ARTE
=’ A I

Or / 91

Describe the achievements and failures
of Indian planning during post-
liberalization period. ‘

SRR TR AR MmRRe  ARIFEIN
SgeTel SF RETOPIZ 3941 341 1
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(b) Examine the role of Foreign Direct
Investment during the reform period of

India.
ST SKTRT FERES SFOT 2O (ACTHIF
Rifcem g [ w01

Or / G%A1

Discuss the present composition of
foreign trade of India.

Tefes IETe ©RST (ARG AN 50w
HICEATD 41 |

{c) Describe various achievements and
failures of decentralized planning of
India.

sRer Reaige e Rfsa Sweer s
fAFerepT 91 391 1

Or / 941

Give the arguments in favour of
liberalization of industrial sector
Indian economy.

SR WS T 497 ARG Seies
% Tz fir |

in
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(d) Explain five important poverty alleviation
programmes implemented by the
Government of India during recent times.

T TRCRE® SRe RINI qaA I
R B TRG [RFT Hol B |
Or / 911

What do you mean by poverty line?
Explain various causes of poverty in
India.

wREST AT WA & T2 TR AR
RSH FRTHR IM T |

% & %
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